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QUESTION 1

Which three are architecture components of vRealize Operations? (Choose three.) 

A. Identity Server 

B. Administrative Server 

C. Analytics Server 

D. Database Server 

E. Connection Broker 

Correct Answer: BCD 

Administrative, analytics and database server are active components of vRealize operations. Reference:
https://books.google.com.pk/books?id=VD6qCQAAQBAJandpg=PA5andlpg=PA5anddq=architectural
+components+of+vrealize+operation+administrative+server+analytics+server+database
+serverandsource=blandots=GfIG7QQwWLandsig=0vLuiJryvZlqvon1Gc1fuo8e0tgandhl=enandsa=Xandved=0ahUKEwj
n79m_gdDNAhVERo8KHQ1VC3QQ6AEIRDAH#v=onepageandq=architectural%20components%20of%
20vrealize%20operation% 20administrative%20server%20analytics%20server%20database% 20serverandf=false 

 

QUESTION 2

An administrator needs to verify that vMotion operations can be performed in a vSphere data center. 

What round trip time (RTT) latency is the maximum value that will allow vMotion operations to succeed? 

A. 50ms RTT 

B. 100ms RTT 

C. 150ms RTT 

D. 200ms RTT 

Correct Answer: C 

 

QUESTION 3

When modifying a vApp, which two vSphere entities can be added? (Choose two.) 

A. A resource pool 

B. A network pool 

C. A vApp 

D. A folder 
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Correct Answer: AB 

A resource pool and a network pool can be added when modifying a vApp. 

Reference: http://wahlnetwork.com/2012/02/01/understanding-resource-pools-in-vmware-vsphere/ 

 

QUESTION 4

An administrator has just configured the IP address on an ESXi host from the Direct Console User Interface. 

How can the configuration be validated as correct without any additional tools? 

A. Add the host to vCenter Server and if it works, then all networking settings are ok. 

B. Select the Test Management Network option from the DCUI. 

C. Connect to the host with the vSphere Client and click the Test Network option. 

D. Use PowerCLI to connect to the host and initiate a network test. 

Correct Answer: B 

This DCUI interface offers the following: 

Configure Root password Configure Lockdown mode Configure Management network Restart Management Network
Test or disable Management Configure Keyboard View Support Information View System Logs Restart Management
Network Reset System Configuration Remove Custom Extensions Shutdown or Restart /Reboot the ESXi Server 

Reference: http://www.virtualizationadmin.com/articles-tutorials/vmware-esx-and-vsphere-articles/ installation-and-
deployment/understanding-vmware-esxi-direct-console-user-interface-dcui.html 

 

QUESTION 5

Refer to the Exhibit. 
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An administrator is installing Windows into a virtual machine. The DVD has been mounted on the Host and configured
for the virtual machine as shown in the Exhibit. 

Based on the exhibit, when the virtual machine is booted, why would it attempt to search for a PXE server? 

A. The CD/DVD device is not connected. 

B. The ISO is in the incorrect storage location. 

C. The OS minimum requirements have not been met. 

D. The CD/DVD device is not set to Client Device. 

Correct Answer: A 

It looks like the CD/DVD device is not connected. Restart the machine and recheck again. When the system doesn\\'t
find CD/DVD drive, it looks for PXE server to boot. 
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